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Abstract

In this paper we develop an economic growth model that includes anthropogenic
climate change. We explicitly include a research sector that creates new technolo-
gies and simultaneously expands productivities of existing technologies. The envi-
ronment is affected by R&D activities both negatively, through increase of output
from productivity growth, as well as positively, as new technologies are less harmful
for the environment. We consider three different versions of the model. In the first
version, there are no constraints with respect to research spending, while the R&D
sector affects the rest of the economy. In this version, the environmental damages
are lower than in the model with simple exogenous technical change. Next, we
consider the research dynamics with a constant R&D budget set by the agent. We
find that there exist two different steady states of this economy, one with higher
productivities and less new technologies being developed, and the other with more
technologies being created. In the last version, finally, we allow for dynamic R&D
spending. For this version, it is demonstrated that sustained economic growth with
preservation of the environment is possible given certain conditions as regards the
technology and R&D spending.
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1 Introduction

In this paper we develop a simple growth model of the world economy which takes into
account environmental damages. There exist quite a many such models in the economics
literature, starting with the seminal paper (Nordhaus 2007). Some of those models are of
the integrated assessment type (IAM) and employ a detailed description of the economy
under consideration together with many sectors and parameters which are estimated em-
pirically. Other types of models are of a simpler structure and are used to study some
new approaches as regards the modelling of the natural environment in growth theory.
In this second strand of literature, one can find two different approaches of how the envi-
roment affects the economic subsystem: one approach includes environmental quality in
the utility function of the optimizing agent, as e.g. in (Ligthart and Van Der Ploeg 1994),
whereas the second approach assumes a productivity decrease due to the environmental
degradation. An example for the second approach may be (Lans Bovenberg and Smulders
1995), where the assumption of pollution-augmenting technical progress is adopted. Our
paper belongs to this second type of models.

The main focus of our paper is the influence of different forms of technical change on
the evolution of the economy and the environment. Hence, the main departure from the
majority of the literature on economic growth with environmental degradation concerns
the way how the technological change is modelled.

Often, the technology in environmental-economic models is modelled as an exogenous
process of accumulation of knowledge according to some given function, without any in-
fluence from the part of the optimizing agent. However, there is a number of papers
where the environmental variables are controlled by the agent, together with the tech-
nology. These papers build upon two well-known models of endogenous growth, namely
(Romer 1990) and (Aghion and Howitt 1992). As an example for an endogenous growth
model, based on variety expansion, including environmental damages, one may take the
model by (Barbier 1999), while the papers by Grimaud (Grimaud 1999; Grimaud and
Rougé 2003; Grimaud and Rougé 2005) are based on the model of vertical innovations by
Aghion&Howitt. These and similar papers do not take into account the environmental

friendliness of technologies being developed and only consider productivity growth. At the



same time, there is a discussion in the literature about the possibility of ‘Green Growth’,
where the productivity increase of the economy does not go along with environmental
damages. In recent years, endogenous growth models have bee constructed in which a
distinction is made between ‘clean’ and ‘dirty’ technologies or R&D sectors. This type
of modelling bears the name of directed technical change and the most recent example
of such an approach is (Acemoglu, Aghion, Bursztyn, and Hemous 2012). In our paper
we do not limit ourselves to the two technologies carbon-intensive and clean, as in the
cited paper. Instead, we model the R&D sector of the economy as a generator of new
technologies on a continuous basis. Each of these new technologies has zero productivity
at the time of its invention and this productivity is subject to additional investments. In
such a way, the technological progress is described by two dimensions: the creation of new
and cleaner technologies and the productivity growth of existing technologies.

The overall productivity of the economy depends on the productivity of all the tech-
nologies being invented up to time ¢, while the intensity of emissions is defined by the
cleanliness of all these technologies. In the first version of the model, R&D expenditures
are assumed to be determined exogenously and the technology investments are determined
from an optimal control problem, while the optimizing agent treats them as given in its
optimization of capital investment and consumption. Thus, the direction of technical
change is independent of the consumption decisions of the agent, but it influences the
overall state of the environment. In this model, environmental damages are smaller than
in the case of an exogenously given technology, but are still rising. In the second version,
we assume a constant R&D budget that imposes a constraint on the agent in determin-
ing optimal technology investments. With such a constraint, there exist two different
steady state levels of research, one with a smaller range of technologies being developed
and higher overall productivity and the other with a maximal range of technologies and
lower overall productivity. It is shown that the R&D budget constraint plays the key role
in determining the actual steady state of the economy. However, in this setting perma-
nent growth is impossible since newer technologies require more R&D spending and this

spending is constant. These two versions of the model are described in section 2.



At last, we allow for a dynamic R&D budget to be set optimally by the agent. In this
version of the model, both positive and environmentally clean growth is possible along
the balanced growth path provided the growth rates of the overall productivity and the
number of technologies follow some special patterns. Our claim is that the ‘Green Growth’
hypothesis can hold, but only if the evolution of the technology is rich enough to allow for
different and dynamically adjusting directions of technical change and if R&D financing

is constantly growing. This model is presented in section 3 of the paper.

2 The model with exogenous R&D

To start with, we describe the basic growth model featuring climate change.

2.1 The basic growth model including climate change

The economy is described from the point of view of the optimizing agent in the same
way as in (Bréchet, Camacho, and Veliov 2011). We modify the basic model by allowing
for technical change to depend on R&D expenditures. The economy contains a range
of productivity levels and emissions technologies and associated sectors of the economy.
However, to keep things simple, we assume that capital is distributed evenly across these
sectors.

With the assumption of evenly distributed capital across all existing sectors, the tech-

nical change may be disembodied from the capital of each individual sector:

n(t)
Y(t) = gb(T(t))(—)a - AB (1) with AE(t) = /q(z’,t)di, (1)
0
where A (t) denotes overall productivity of all the sectors of the economy.
The economy is affected by R&D through 3 different channels: first, overall R&D
investments, R(t), are deduced from the income of the agent; second, total productivity
of capital in the economy grows as a result of aggregate R&D, AZ(t); third, the intensity

of emissions from output gradually reduces due to the adoption of cleaner technologies,

e(t).



As a result, one arrives at the following optimization problem for the agent:

/ T [c(t)AE(t)¢(T(t)) (%y]l_7 )

I—7

J¥ =max
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() = —vm(t) + (1 a(®)e() AP(O)o(r(1)) (%) . @)

This problem contains three exogenously given functions of time, which determine the

total productivity, the emissions intensity and R&D investments. The notation is as

follows:

e JF is the objective functional of the agent;

r is the rate of time preference;

e ¢(t) is the consumption rate per capita;

e Y'() is the total output per capita;

e k(t) is the total capital per capita;

e ) is the depreciation rate of capital;

e a(t) is the abatement rate;

e 7(t) is the average temperature relative to the pre-industrial level;
e )\ is the rate of temperature decrease due to emissions into space;

e m(t) is the greenhouse gas (GHG) concentration in the atmosphere of the earth;



e v is the rate of recovery of the atmosphere due to natural decay;

e(t) is the reduction of the emissions intensity (due to cleaner technologies);

e ¢(7(t)) is the damage function depending on the temperature increase;

« is the parameter of capital productivity;

v is the inverse of the inter-temporal elasticity of substitution of consumption;
e R(t) are total R&D investments;

e ¢(i,t) is the productivity of technology i at time ¢;

e n(t) is the total spectrum of technologies available at time ¢.

Let us assume that there is an exogenous R&D sector, which may be constrained or
unconstrained in its activities by the total of resources R the agents decides to spend for
research activities.

The R&D sector continuously develops new technologies, ¢ € I, from the potential
spectrum of technologies. These technologies differ from each other in the extent of
environmental damage from them with newer technologies yielding less damages (the
function of the damages to be defined). This results in a gradual reduction of the emissions
intensity, e(t), as new technologies are adopted. At the same time, the agent develops
the productivity of all these new technologies (changing according to some investment

efficiency function), which in turn governs aggregate productivity dynamics.

2.2 The dynamics of R&D investments

The structure of the R&D sector is close to the one in the model by (Acemoglu, Aghion,
Bursztyn, and Hemous 2012), but with a continuum of possible technologies instead of
only two (dirty and clean). The dynamic model follows the lines of (Belyakov, Tsachev,
and Veliov 2011), where the mathematical foundations for this type of models are dis-
cussed, but is more closely to the stylized model in (Bondarev 2012). The R&D spending

is determined from an optimization problem of maximizing the productivity of all new



technologies subject to laws of motion of productivity increase for each technology and
and subject to the process of variety expansion of technologies. It is assumed that each

new technology has zero productivity at the time it is invented,

q(i7ti(0)) =0, (3>

which makes sense from an economic point of view and where ¢;(0) denotes the time of
invention of the technology i. The time of invention of the technology, ¢;(0), is the inverse

function of the process of variety expansion, n(t):

ti(0) = £~ (n(t)) ey (4)

Thus, the objective functional to be maximized is written as:

Tech def - —rt we) . L 2| 3. 1 2
J = max e [q(z,t) — —g(i,t) ]dz — —u(t)” | dt. (5)
u(-),9() Jo 0 2 2

with:
e u(t) - investments into variety expansion;
e ¢(i,t) - investments into the productivity growth of technology i at time ¢;
e n(t) - level of variety of technologies being achieved;
e ¢(i,t) - productivity of technology i at time t.

The dynamics of productivity for technologies and of the variety of technologies are

given by:

n(t) = &u(t);
qi, 1) = ¥(i)g(i,t) — Bq(i, 1), Vi € [0;1] =T CR. (6)

with:
e (i) - efficiency of investments g(i,t) into the productivity growth of technology i;

e (3 - decay rate of productivity of technology 7 in the absence of investments, similar

across technologies;



o ¢ - efficiency of investments into the expansion of variety of technologies.

One has also the number of static constraints on controls and states:
40, Dliny = 0 0 < n(t) < 15 q(i,) = 0; u(t) = 0; g(i,) > 0. ™

From (6), (7) it can be seen, that the productivity of each technology declines over time
(q(i,t) may decrease), but the technology itself, once invented, cannot be forgotten (n(t)
cannot decrease). The spectrum of technologies is bounded by some positive value N
which is normalized to one. In such a framework the number of sectors in the economy
grows in time, but there is no real structural change, since older sectors do not disappear
from the system.

For simplicity we first assume that the technical change is completely exogenous to the
rest of the economy. In this case, the research sector problem may be solved separately
from the optimization problem 2. To solve the R&D problem described by (5), (6) we
make use of the maximum principle. The details can be found in the Appendix A.

We derive the analytic solution for the infinite time horizon only. The estimation of
the dynamics for limited time horizons has been done with the help of asymptotic methods
as in (Reid 1980). It appears to be qualitatively the same and bounded by the dynamics
of the infinite time version of the model. Following the arguments from the Appendix A,
the productivity growth of every new technology is given by the equation:

2
iti.0) = 20— g, )
which is a linear equation in ¢(i,t) for each .

The optimal investments into productivities of new technologies are constant in time
and vary only across technologies for the infinite time horizon:
)
r+ 5

g(i)" = (9)

Assuming decreasing efficiency of investments and constant decay rates of productivity

across technologies,

Vi) = - V1—i; B(i) = . (10)



we obtain the explicit solution for the productivity evolution for each :

R ] (1)
The time of emergence ¢;(0) depends on the variety expansion speed of new technologies,
n(t). The latter is obtained as the solution for the ODE system (A.11) derived in the
Appendix A. The associated optimal investments into variety expansion are the function

of shadow price of variety expansion only. The resulting variety expansion is:

VIt 230 4 207 4 2629 — (1 + 1)

1
") =1 —1)-e 2 with 4; = > 0.
n*(t) +(no—1)-e , wi 1 R
(12)
which defines investments into variety expansion as a function of time and of the initial
conditions: ( )
U (t) = 2—521416 27, (13)

The overall dynamics of the R&D sector is described by productivities in the form (11)
and by the expansion of the spectrum of technologies by (12). Figure 1 provides the 3-d

reconstruction of the qualitative dynamics. The main features of the technology evolution

i,n(t) t

Figure 1: Reconstruction of exogenous unrestricted technological change

are summarized in the Proposition 1.

Proposition 1 (Technology evolution with independent R&D) With no constraints

on the evolution of technologies, they are evolving in the following fashion:



1. Each new technology is developed up to some maximal productivity level, (i) and

then is supported on this level;

2. Every technology has a different mazimal productivity level, which decreases across

technologies if the function (i) is decreasing and vice versa;

3. Variety of technologies, n(t), grows over time with declining speed for a decreasing

(i) function and with a rising speed for an increasing function,

4. Constant growth rates of the variety are only possible for homogeneous technologies

(linear growth).

2.3 Aggregate dynamics

The overall productivity of the economy, AF(t), as defined in equation 1, is given by the
total of productivities of all technologies in the existing range at a given time ¢t. Since
these productivities are known, this is an explicit function of time:
n(t)
AE(t) = / ¢*(i,t)di = Fy(t), with Fy(t) = By -e P — By-e 24 4 By (14)
0
where Bj, By, Bs are functions of constant parameters ng, &, 3, r.

The emissions intensity reduction is obtained in the same manner as this is the aggre-
gate of emissions intensities of all the technologies being developed up to the time t. To
define the emissions intensity it is necessary to specify how the carbon-intensity changes
across technologies. We assume that each next technology is cleaner than the preced-
ing one. The simplest way to define this is to assume a linear decrease of the emissions

intensity from 1 to zero:
1(i) =1—1. (15)

With such a specification, the economy starts with the most dirty technology which emits
one unit of GHGs per unit of output, while at the end of the possible spectrum are tech-

nologies which do not contribute to the emissions at all. However, these technologies are



very hard to develop due to a decreasing efficiency of investments into their productivity
growth, defined by the (i) function above. The emissions intensity reduction function is

explicitly given by:

By _ 0 _ : _ 1
e’ (t) = T Fy(t), with Fa(t) =1 — En(t) (16)

The overall amount of R&D investments is given by the quantity

n(t)
R(t) = /g(i,t)di+u(t), (17)

where investments are given by the optimal values from the R&D optimization problem
above. This quantity for known variety expansion may be expressed as a function of time

and of parameters only:
1
(D) = 5 (61 = Gae = e b ), (18)

where G, G, G3 again are functions of the constant parameters ng, &, 9, 3, r.

2.4 Resource-constrained exogenous research sector

The model with exogenous R&D expenditures has one strong weakness: the R&D in-
fluences the economy and the environment, but the economy does not influence R&D.
Since we have a continuum of possible technologies of heterogeneous nature, it would be
difficult to include the optimization of R&D expenditures of all types (for every i) into the
problem of the agent. Therefore, we assume that the agent only controls the overall level

of R&D expenditures by setting the resource constraint as concerns R&D investments:
n(t)

R =u(t) + / g(i, t)di. (19)

0
With such a constraint, the optimization problem becomes a resource-constrained one. It
has the same objective, (5), and the same dynamic constraints, (6), but it includes an

additional path constraint for the controls (19). We again use the maximum principle

10



to solve the problem. The main difference in the solution procedure consists in the
usage of an augmented Hamiltonian function instead of the usual one. The exact formal
treatment of this problem can be found in the Appendix B. Here, we only point out that
the inclusion of the path constraint into the model does not allow to achieve an explicit
closed-form solution, even for infinite time horizon case. However, due to the special
structure of the problem, the steady state dynamics of variety expansion do not depend
on the productivity of technologies and may be analysed by conventional methods.

We start with deriving the dynamical system for the constrained variety expansion

which is given by:

con € 2 (v/1=n(t)—n(t)y/1-n(t)-1))
n(t) = 50 <R+§>\(t)n(t) + §¢ " ) ;
A1) = A (n())A(E) — Aa(n(8)N*(E) + As(n(t)), (20)

where Aq(+), Ao(+), A3(+) are functions of variety expansion and of parameters.

This non-linear system has at most 2 steady states depending on the value of the
resource constraint R. With a tight constraint, there are no steady states at all while
with a very relaxed constraint the only steady state is the maximum level of variety
allowed, n = 1. However, with R in between these two extremes there exist two different
steady states. In one of these steady states the variety of technologies is not maximal,
but is limited to roughly (1/2) of the range, as Figure 2 illustrates.

There is also the possibility for the existence of only one steady state of the second type,
which corresponds to a lower efficiency of investments into variety expansion. However,
we are mainly interested in the situation with multiple steady states, as this provides a
possibility to discuss the technology lock-in phenomena.

Next, we consider the dynamics of productivity for technology :
1
(r+B)(1 +n(t))

(BAVIZH0 = 00 + 30T+ )R- 30— 60+ HAD) ) -

— 5 (B0 + 9)ati.t) = (1 = ) (i) (21)

11
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Figure 2: Multiplicity of steady states

This equation is a function of the variety expansion and of its shadow price. Hence, the
steady state value of the productivity of each technology is a function of the steady state
values of the variety expansion and of the shadow price of investments into it:

P31 —4) 2 (1 —7)3/? V1—i

0= 5ern 3V T an e

Since there are two possible steady sates for the system (A, n), every technology has two

(R(r+6) = 50— €0+ A)X). (22

possible steady state levels of productivity. This differs from the unconstrained technology
case considered above where only one steady state of the system exists, namely the one
with maximum variety expansion n = 1.

It can be demonstrated analytically that the steady state productivity level associated
with the second non-maximal steady state of n(t) is lower than the one associated with the
steady state with maximal variety expansion. To see this, observe first that the shadow
price of variety expansion, A, are zero in the maximal steady state and non-zero in the
other one (see Fig. 2):

Arax =0 < Ayv > 0. (23)

12



Now, consider the derivative of the steady state productivity with respect to A:

9q(1) &V —i
oN  p(l1+n)

< 0. (24)

This holds for any n. Since in the maximal steady state the value of A is lower than in

the other one, we may conclude that
q(i)max > q(i)min- (25)

Hence, depending on the choice of the constraint R, there are two steady states denoted

by MAX and MIN, respectively. These steady states are such that:
q()max > q(i)ain, Vi <1, Anrax > Dugw. (26)

Now, we compare the steady state levels of output and of emissions associated with
the two different states of R&D, MIN and MAX. A priori, one would expect higher
productivity, output and fewer emissions and, therefore, less environmental degradation
for the M AX steady state with more and cleaner technologies. However, due to the fact
of a decreasing efficiency of investments into newer technologies, the capital is distributed
to a smaller extent and its concentration is higher. That is why the output is higher for

the MIN steady state although the aggregate productivity is lower:

Yarin > YMAX7 Ayrn < Aprax. (27)

At the same time, the emissions intensity is higher for the M IN case since there are less
technologies and all of them are dirtier than for the M AX case:

e(t)y=1- 5”(75)7 emiN =1 — STMIN > Epax = 3 (28)

As aresult, the total impact of the economy on the environment for the M IN steady state
is more damaging than for the other one, but the economic performance is better. Thus,
we obtain the well-known result as regards technology lock-in: there exist two steady
states of the economy and, in the absence of outside stimuli, it will always converge to

the dirtier one with fewer new technologies. This is summarized in Proposition 2.

13



Proposition 2 (Economy with technology lock-in) In the presence of a constraint
as concerns RED, there are two possible steady states of the economy, MIN and MAX .
In the first steady state, the total output of the economy is higher, but not all available
technologies are developed because capital is concentrated in older more productive sectors,
which are more productive. In the second steady state, the environmental degradation is
slower, but output is lower than in the first steady state since capital is shifted to newer
and less productive sectors. However, the total productivity of the economy in this case
1s higher due to a greater number of sectors being present. Other things equal, only the

MIN steady state realizes since there are no stimuli to produce newer technologies.

However, due to the introduction of heterogeneity of technologies and due to a continu-
ous spectrum of them being available, there are more options available to influence the
outcome than environmental taxation. This possibility lies in the resource constraint for
the R&D sector: with this constraint being weak enough, the MIN steady state of the
economy disappears.

It is straightforward to notice that the amount of resources being allocated to R&D
positively affects the speed of variety expansion and of the productivity growth of all
technologies. Consider first the variety expansion:

ont) ¢

oR ~14n@) " (29)

Thus, the more resources are devoted to R&D, the higher is the variety expansion speed.
This influence declines with an increasing available range of technologies.
The productivity development of every introduced technology is also influenced by the

resource constraint:

0iti.t) _ oNT=i
OR  1+n(t)

The influence declines across technologies and with a rising spectrum of available tech-

0. (30)

nologies. Now, one may ask whether additional resources in R&D will increase produc-
tivities (and thus emissions and output) or whether the spectrum of technologies (and
thus emissions) declines to a greater extent in relative measure. To answer this question,

we compare the derivatives given by (29) and (30). The productivity growth has to be

14



accounted for across all the available technologies so that we need an integral expression:

aiR/q'(i,t)di_ O/ aquﬂdi_g(lfw-(1—(1—n(t))2/3), (31)

which represents the total change of the productivity growth of all technologies. Then,

the relative measure of resource allocation is determined by the following relationship:

% < 2(1- (- n)?). (32)
This expression depends on the current value of the spectrum, n(t). The closer the current
spectrum of technologies is to its limit, 1, the higher the chances that additional resources
will be allocated more to the productivity growth of existing technologies, rather than to
the introduction of new technologies.

However, this may be true only for a specific relation between investment efficiencies.
Assume, for example, £ = 1, that is similar efficiency of investments into productivities
and into the increase of the range of technologies. In this case, the ratio on the left hand
side of (32) will be higher than the expression on the right hand side for any value of n(t)
since this latter is limited by 2/3. In such a case, new additional resources will always be
devoted to the development of new technologies rather than to the productivity growth,
independent oo the already available range.

As an alternative, consider that the efficiency of investments into variety expansion
is twice as low as the aggregate efficiency for productivity improvement, £ = 0.5 -¢. In
this case, starting from n = 0.6 more resources will go to the productivity increase rather
than to variety expansion.

Hence, the type of innovations (vertical versus horizontal) can be influenced through
the appropriate choice of the resource constraint: the higher is the R&D budget, the
faster is the addition of new technologies into the pool and, therefore, the slower is the
environmental degradation. At the same time, an increase in the R&D budget would
raise productivities of all of the existing technologies, thus, increasing emissions from the
output. Consequently, limiting R&D to stop the development of new technologies will

also result in lower productivity growth and in fewer emissions.

15



One can conclude that the relaxation of the budget constraint for R&D may lead to

the better steady state of the economy. However, this will be true only if:
e Two steady states exist and not only one and

e The efficiency of investments into productivities of existing technologies is not very
high.

If the first condition is violated, the additional resources will be deliberately spent on
productivity growth, thus, increasing the environmental threat. If the second condition is
not met, some new technologies will appear, reducing the capital concentration on older
dirtier sectors. But this will be offset by the increase in output of these old technologies

and the environment will again suffer. These results are summarized in Proposition 3.

Proposition 3 (On the selection of the steady state with limited R&D) An in-
crease in the RED budget may lead to a variety expansion of technologies and, thus, to a

slowdown of environmental degradation. For this, two conditions are necessary:
1. The resources for RED are limited so that two steady states of the economy exist;

2. The efficiency of investments into variety of technologies is not less than the overall

efficiency for productivity investments, & > 1.

Given these conditions, a rise of resources dedicated to RED leads to selection of the

mazximal (environmentally friendly) steady state.

We conclude that in the case of a low efficiency of investments into variety expansion,
increasing resources spent for R&D are necessary. In this case, the agent would be able
to increase funding at initial stages in order to boost the creation of new technologies and
reduce it afterwards to slow down productivity growth. This would be equivalent to a fine
tuning of the direction of technical change in time, and not only indirectly influencing it

through discretionary static changes in R&D spending.

16



3 The model with endogenous R&D

In this section we relax the assumption of a constant and static budget constraint as
concerns R&D spending in the economy. Now, it is assumed that the agent optimally
chooses the amount of resources spent for overall R&D as an aggregate. The optimization
problem of the agent is again given by Egs. (2), with the additional constraint Eq. (19).
The only difference is that this constraint is now allowed to be a function of time, R =
f(t). Still, the amount of R&D that is devoted to vertical and to horizontal innovations,
respectively, is the decision of a separate optimization problem. It turns out, that in a
dynamic setting both vertical and horizontal R&D investments as well as the evolution
of technologies are functions of the dynamic R&D budget constraint.

The optimization problem of the agent can be written as follows:

T = e {/ooo o {%} dt}

s.t.
R(t) = =0k(t) + [1 = c(t) — fi(a(t) — f(RO)NY (B);

S

)
Y(t) = 8(r(1)) / 9(i, D)k(i, 1) i
k

k(i 1) = % (33)

where fo(R(t)) replaces total exogenous R&D investments from the previous version.
Indeed, under a dynamic budget constraint all controls of the R&D optimization problem

are functions of the dynamic R(t). To see this, consider the optimization problem with

17



respect to R&D subject to the resource constraint:

n(t)

i —rt : 1 2/ . 1 2

JBR = g{%i}((-)o/e O/ q(i,t) — 59 (i,t)di — Ju (t)dt (34)
s.t. (35)

n(t) = u(?); (36)

Q(i7t> = w(i)g(iat) _BQ(iat)7Vi € [07“71]; (37>

n(t)

[ sttt < Rio) (38)

q(i, t)li:n(t) =0. (39)

This problem yields optimal controls for vertical and horizontal innovations as func-
tions of R(?):

with o
EXN(t) + Of (2, 0)(2)di R()
1+n S 14n(t)

where A(t) is the shadow price of investments into variety expansion and A,(i,t) are

=

(42)

shadow prices of investments into productivity of technology i. The ¢ function is the
Lagrange multiplier for the resource constraint.

We can solve independently for the co-state of the technology and, then, for the pro-
ductivity of each technology, which is a function of the shadow price of variety expansion.
The whole R&D dynamics is defined by the pair of equations for variety expansion and
its shadow price. These are given in Appendix C.

Next, we impose the balanced growth path (BGP) condition:



Thus, we have a constant growth of variety expansion, independent of the efficiency

function:
n(t) = gneInt. (44)

The co-state variable on the BGP is a function of the BGP growth rate and of R(t):
gun(t) | vty
gnn i)di
= ER()
_ gn(t) — Tra@ T IR
&1 - )

(45)

Now, the dynamics of every technology along the BGP is a function of time and of
n(t)
R(t) only. We need, however, the function [ ¢(i,t)di = f(R(t),t) to determine optimal

0
controls for the problem formulated in 33. For that we need another BGP condition,

d/dt (nf(t)q(@', t)di)

n(t)

[ q(i,t)di
0

Using this condition we can obtain the function of integral productivity from the R&D
expenditures (see Appendix C). With Q = f(R,t),7(t) = f(t) at hand we can determine
the optimal R&D budget for the agent.

namely,

=90 (46)

Next, we can set up the Hamiltonian for the agent’s optimization problem and derive
the associated FOCs. However, the expressions are very cumbersome and an explicit
solution for the dynamic problem of the agent cannot be obtained. The derivations are
given in the Appendix C. We make only some qualitative conclusions here.

With the requirement of constant growth rates, the investments into variety expansion

are also fully defined by the growth rates:

u*(t) = gn/§ - n(t); (47)

At the same time, the resource constraint for R&D requires

n(t)

R() — gu/€ - n(t) = / 9(i t)di. (48)

0
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With a constant R as before, this would mean declining investments into productivities
since the variety grows. However, with a dynamic R both a positive g, and g are possible
if the growth of R(t) is positive and greater then g,,. In this situation one can obtain the

relationship between the variety growth rate g, and R(?):

R(t) =

:1/2€grt( (2(7'4—5—06)97“-1-04)@29% N ((a—i—QT—i—Qﬁ)gr_Oé)eSgrt )
a (L+emt)’ (r4 8) (~1+emt)  a (L+ert) (r+ 5) (=1 +eom)
2(a—(r &) gr)e’ 2g7(r + ) )

el Py e e e e T

49)

This relationship yields growing or decreasing R&D expenditures, depending on the re-
quired growth rate of variety expansion. If a low variety expansion rate is preferred, one
has a decrease of expenditures and vice versa. The output growth rate is a function of

the growth rates of other variables:

- (¢((1)Qk/n)6)x
gy =Y/Y = =
RN e
((gx — gn) + 9@ — 29)7(t)* + (g — gn)r + go (50)
1+ 7(t)?
At the same time, in the absence of environmental spillovers, this would be:
9 = (gk — gn) + gq- (51)

Thus, positive output growth rates are possible, if:

1. The growth rate of capital is higher than the growth rate of variety of technologies,
9k > Gn and

2. The aggregate growth rate in the absence of environmental spillovers is higher than

the first term, provided it is negative.

This first term of the numerator in (50) may be positive if gg > 2g,. But this case
is counterintuitive: the presence of environmental spillovers yields higher growth rates
than the model economy that neglects the environment. For that, one must have a high

enough gg. If the overall productivity grows because of growing productivities of older
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technologies, this will increase the temperature growth rate. However, if this overall
productivity growth occurs because of newer technologies, since go = f(gn, R), both
environmentally friendly and higher growth is possible.

The output growth rate for the economy with environmental damages would be the

same as that of the unconstrained economy, if the growth rate of temperature was zero:

o =0 ((gr — gn)ox + ng)Cr(tT)(t; (9r — gn)r + 90 _ (gk — g)a + go. (52)

This growth rate is positive if g > g¢,, or if gx < ¢, and (gr — gn)a < g holds. Taking
the extreme case with g, = 0 (thus no emissions from output) we must have go > —ag,
which is always true if both are positive.

However, along the BGP we need to consider g,, = 7i/m, which gives us the rela-
tionship between gg and gy, g. If we require g,, = 0 on the BGP, this gives a relation

between gg and g, only. This expression is:

9o = X(gn)e(n)(l — (l) - ﬁ (5?))

Ve)\’?’/ﬁ)

Since both gg, ¢, are constant on the BGP, this implies some specific relations be-
tween the temperature and the overall productivity level X. In particular, the relation
(53) requires that accumulated damages (given by the denominator of the right hand
side) should not be too high. If the denominator goes to infinity (in the case of a large
temperature increase being already achieved), the productivity growth, gq, will tend to
zero, if one followed a green growth policy. Otherwise, positive emissions and further tem-
perature increases would be inevitable. This follows from the fact that all of the R&D are
financed from the R&D budget and, thus, require more output (other things equal) that
leads to a more GHG emissions. To offset these additional damages, a higher efficiency
X is required.

However, the requirement of constant growth rates both for variety of technologies and
for the total productivity growth are essential requirements for the form of the efficiency
function ~(i), since the productivity growth depends on it.

Now, take closer look on the dynamics of productivities given (C.3), derived in Ap-

pendix C. It turns out that, depending on the term in brackets, productivity may grow
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or decrease for each technology. Denote

(t)
EN(t) + ﬁ / Y(i)di+ R(t) =T. (54)

If ' > 0, productivity growth for each technology is lower than for the case of uncon-
strained R&D. If it is negative, the growth is higher. To obtain the same rates of growth as
for the version of unconstrained R&D, we set I' = 0 and assume the same efficiency func-

tion, ¢ (7). In this case, one can obtain the dynamics of variety expansion by substituting
for A(t) in (C.4):

n(t)
() [ (i)di
) B 1 N 1 R(t) § 0 .
i) =~ RO+ 55 /W)d’ (1 B 1+n(t)) ENETO R S E
n(t)
= RO)E/(1+n(0) -9 - 5 [ vl (55)

This equation may be estimated for different time paths of R&D expenditures: for con-
stant R&D, for linearly rising R&D or for some other dynamics of the R&D budget. It
turns out that the evolution of the variety expansion and its speed are fully determined
by the dynamics of the research expenditures, as productivity investments are defined by
the form of the efficiency function and by I'. Consider, for example, the variety expan-
sion dynamics for constant, for linearly rising and for exponentially increasing research
expenditures, shown in Figure 3.

With a linear growth of R&D expenditures, there is the possibility for constant variety
expansion, g, as it is required by (43). Thus, with a linear growth of the research
expenditures the green growth scenario is possible, even for a declining efficiency of the
technologies, defined by (i) = 1/1@ . We conclude this section with the following

Proposition.

Proposition 4 (On the possibility of green growth) The green growth scenario (si-

multaneous output growth and preservation of the climate) is possible if:

1. There exists a significant multiplicity of technologies (heterogeneous spectrum);
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Figure 3: Dynamics of variety expansion, n(t), as a function of time, t.

2. Research spending is controlled by the agent and is at least linearly increasing,

3. Efficiency of newer technologies compared to older ones if does not decrease faster

than the square root, in case the efficiency declines.

In particular, a constant linear variety expansion and a constant output growth are achiev-
able under linearly rising research expenditures and decreasing efficiency of new technolo-

gies together with a non-increasing temperature.

It would be of interest to consider the situation of zero overall productivity growth since,
in this case, condition (53) is particularly simple and it might be possible to explicitly
derive an optimal research expenditures rule. However, for productivity growth to be zero
and variety expansion being positive, one needs finite life cycles of all the technologies.

This is considered to be an expansion of the current work.

4 Conclusion

In this paper we have developed a model of economic growth featuring climate change,
where growth is driven by simultaneous vertical and horizontal innovations. The key fea-

ture of these innovations is that all of the new technologies are different from each other
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in productivity and with respect to their GHG emissions. It turns out that possibili-
ties for environmentally friendly economic growth can be increased if the multiplicity of
technologies is taken into account.

First, we have considered the scenario with exogenously given R&D expenditures that
are not subject to a constraint. For this model version, we could identify two counter-
vailing forces affecting the economic performance and the state of the environment: The
introduction of newer and cleaner technologies decreases the intensity of emissions from
output, whereas higher productivities of all existing technologies raise emissions. Fur-
ther, due to the presence of a continuum of technologies, there exists the effect of capital
blurring that increases the effect of cleaner technologies: capital is redirected from older
industries towards newer ones since there are more opportunities for investments in these
new industries than in older (and more productive) ones. As a result, the negative effect
of productivity growth on the environment is smaller than in the standard exogenous
growth model or in the model of directed growth with a limited number of sectors as in
(Acemoglu, Aghion, Bursztyn, and Hemous 2012).

Second, we allowed for a static budget constraint as concerns the R&D expenditures
in the economy. In this situation, the economy may be characterized by multiple steady
states, similar to (Greiner, Griine, and Semmler 2010). This multiplicity is the result of
an uneven distribution of investments between the introduction of new technologies and
the development of older ones. With limited research expenditures it is likely that the
majority of resources will be spent on the development of existing technologies, rather than
on the introduction of newer ones. This will lead to the technology lock-in phenomenon,
as described in the economics literature, when newer technologies are underdeveloped
or even non-existent. However, due to the structure of the R&D process considered in
our paper, this lock-in may be overcome by an increase in research spending if certain
conditions as regards the parameters are fulfilled. We also argue that in the case of a single
steady state (with sufficiently low research spending) such a once-and-for-all adjustment
cannot, overcome the technology lock-in and a rising R&D budget has to be considered as

an alternative.
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We, then, developed the model version with rising R&D expenditures in the last section
of the paper. For that model it was not possible to obtain the closed-form solution for the
control variables. However, the analysis along the balancd growth path of the economy
has demonstrated that the growth rates of the variety of technologies (and, thus, of
environmental degradation and of output) depend on the distribution of efficiencies across
the whole spectrum of technologies and on the level of the research spending. The latter
determines the shape of the variety expansion on the balanced growth path: with constant
research expenditures the variety is constant, too, with linearly rising expenditures the
variety expansion is also linear and so on. It turns out that a linear variety expansion is
sufficient to obtain a green growth scenario: growing output without a rising greenhouse
gas concentration in the atmosphere. The feasibility of this scenario depends on the
structure of the technology space (defined by the differences in investment efficiencies
across technologies) and on the accumulated environmental damages. The higher is the
already accumulated greenhouse gas concentration and, thus, the damage, the harder it
is to provide positive overall productivity growth. Since we are in the situation of such
accumulated damages, the scenario of zero productivity growth should be considered.
Under such a scenario each technology has a finite life cycle and, therefore, the economy

would switch towards cleaner technologies over time.
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Appendices

A Derivation of optimal controls and of the dynamics

for the model with no constraints on R&D

In this case, the maximum principle yields the following Hamiltonian for the control

problem (5), (6), (7):
n(t)
HF =/0 [q(i,t) - %g(z‘,t)z di — %“W + An(t) - (Su(t))+

n(t)
/0 Aist) - ((i)g(i, 1) — Bali, 1), (A1)

with superscript F' denoting the version of the model with exogenous R&D. The first-order

conditions for optimal controls:

u(t) = L), git) = B (i, ). (A.2)
The co-state system is:
AL () = rAL () + %g(n(t), t)2 — p(n(t)A] (n(t), )g(n(t), ) — A7 (H)g(n(t),1);
AP t) = (r+ B)AE (i, t) — 1, (A.3)

where

in the first equation we make use of the condition ¢(i,t)|i=n) = 0,

Y(n(t)) = 1(i)|i=n() is the value of investments efficiency function at the boundary

of variety expansion at the moment ¢,

g(n(t),t) = g(i),t)]i=n() is the value of investments into the productivity of the next

technology to be invented,

AF(n(t),t) = AF(i,t)i=n@ is the shadow price of investments into the boundary

technology productivity.
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We make use of the standard transversality conditions for finite 7', which are replaced for

infinite T by the catching-up version of them (with tlim replacing thrrTl)
A(T)=0, A, T)=0. (A.4)

since the salvage value is zero. The co-state for each technology may be obtained inde-
pendently:
1 — or+A)(=T)

(r+5)

Observe that with infinite time horizon, 7" — oo this yields a constant shadow price in

A1) = (A.5)

time for each technology:

1
(r+68)

The co-state gives optimal investments for each technology as a function of investment

(A.6)

efficiency and of time only (non-feedback strategy):

1 — er+B)(t=T) . ()
. W, g (lyt)T—>oo = (7" + 6) . (A?)

The optimal productivity for each technology is then obtained from (6):

g"(i,t) = ¥(i)

] — lr+B(E-T)

it = vl - (000 )~ 6-ati.

(r+5)
N P* (i) _
A CT RS I ERST:
- (BeHIEO-B=CHAT _ go+8)E=T) | (95 4 p)(1 — ¢ H-O)Y)
G (i, D)o = (ﬁwj——<:~))6 (1 — e Bty (A.8)

The system for variety expansion is:

a(t) = (1) (A.9)
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In order to obtain any (even numeric) solution, one need to specify the function 1 (n(t))
explicitly. We choose the function with a decreasing efficiency across technologies, which

linearises the system above:
(i) = - /(1 —1);
. 1, 1 — B (E-T)\ 2
i) =m0 - 50 (a0 (P )
n(t) = EX\, (). (A.10)

This system has no analytic solution in elementary functions, but for the infinite time
horizon case it has one and the finite time solution is bounded from above by the infinite

time solution since the time-dependent term is a contraction operator, cf. (Reid 1980):

SOl = PAa00) = gy 7 (L= (D)

()| 7m0 = @ Xn ()7 oo;
0 ()| 7o = 1+ (g — 1) - €341,
T 2083 4 232 4 2020 — (2 4 1)

r+ 3
The explicit solution can be obtained only for the infinite time horizon version of the

Ay

> 0. (A.11)

model. Next, define the time of emergence of each new technology as a function of the

position of the technology in the spectrum:

60) = s = -2+ 2l () >0 (A12)

a1 — Ny

Thus, the productivity growth function for the infinite time horizon for each technology

1 is fully defined as a function of time and of the index only:
5
2(1 —4) 1—4\ o
it Hmz—w( - 1—< ) e A.13
R R CEDE T=n) (A1

B Derivation of optimal controls and of the dynamics

for the resource-constrained R&D model

The dynamic optimization problem for this case is to maximize (5) with respect to (6),
(7) and (19).
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The control equality constraint of the type (19) is added to the Hamiltonian (A.1) to

obtain the augmented Hamiltonian of the problem:

n(t)
H = [ [ati.0) = 500007 di = S0P + 2u0) - (€ute)+
n(®) n(t)
| a0 @t = sati.0) +16) - (R=utt) = [ gti.00).

0

where [() is the time-varying Lagrange multiplier for the resource constraint.

The FOCs for this problem read as:

The latter yields I(t) as:

120 =291 —n(t)*? + 3(r + B)(EAa(t) — R)

) 3 (r+ B3)(1 +n(t)) ’

(B.1)

(B.2)

(B.3)

which is a function of the variety expansion and of its co-state variable. The differential

equations for all system variables, then, are obtained in the same way as above but with the

substitution for controls of (B.2) with I(¢) defined in (B.3). The resulting productivities,

q(i,t), are functions of the variety of technologies, n(t), and of the resource constraint

R which enters optimal investments, (B.2), through the Lagrange multiplier. Because of

this, the analytic solution cannot be obtained as in the exogenous R&D model version in

Appendix A.
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C Derivation of optimal controls and of the dynamics

for the model with a dynamic R&D constraint

Now, we have

}\qR(z t) = (r+ B3, t) + 1; (C.1)
A (i t) = ﬁ = A, (C.2)

where the superscript R denotes the version with endogenous R&D. The technology dy-
namics is:

n(t)
R
| MOt [0 R(t)

T‘i’ﬁ 1 —I—n( ) 1 +n(t)> _5Q(iat)- (0.3)

(i, 1) = () (000

The variety expansion dynamics is:

n(t)
of W(i)di
aremern O

1
1+ n(t)

. 2\ R 1
i(t) = ENIO (1= ) +ERO

The associated co-state dynamics is pretty complex:

Wiy = 1 DR (= JOw@)dig +r(r + B)(n(1)?)

(T n@)? (r+ B)(1 + n(t))? "
+ummwM+arw+ﬁ»nw+wmmwk+wr+R@xxr+ﬂuﬁw_
w+mu+nm>
1o DR + 92 7000 + (r+ HRE) + Y0l (1 +2n(0)

(1 +n(t))*(r + B)
(C.5)

but depends only on n(¢) and on R(t). The evolution of each technology ¢(i,t) is fully
defined by the pair n(t) — A%(¢) which are defined by the level of R&D expenditures, R(t).
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With a constant growth rate of the variety, we obtain the aggregate productivity as a

function of research expenditures only:

p n(t) n(t) n(t)
a(/«um)””°/«umxg/mmw; (C.6)

a(t)
_ . X
Q:O/q(z,t)dz—gQ+5, (C.7)
7(t)
at) Ort)+ == [ ¥(i)di
. L1 T D R(t)
X = /[wm(w(l)wrﬁ_ 1+t B 1+n(t)>]dl (C8)

Now, the Hamiltonian for the optimization problem (33) is written as:
Y @)
L=~
+ An(—vm(t) + (1 = a(t)eP (@)Y (1) + A (=A(m(t))7(t) + d(m(t))). (C.9)

HE = + Ae(=0k () + [1 = c(t) = fila(t)) — f2(R(E)]Y (1) +

The FOC for R(t) should be:

o 00 (2B ) st e i) ) )

+2,((1 - @)e(n) @}(;;R)); (C.10)
% _ &W(ng—}y{; (C.11)
m;f) _ %g;?;; (C.12)
aglﬂf) - 005, Ri s (C.13)
Z—; - ;Zn/nw(i)d@: (C.14)

0

With the same definition of the efficiency function, yg(i) = ygrv/1 — ¢ this last derivative
is:
0X yR@=ypa-2 1 g (2 —3n+n?

o ’ T ) — Dy(n) (C.15)
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that is constant over R. The total productivity is a linear function of R:

X(R) = Q1(n, gn) + Q2(n1, gn) R, (C.16)
and the expression for the gradient over the research expenditures will be:

()

9o +

o = (@, 92) + Qul 9) ) (S)aww

+

EO&
0.05R (%)

n

Tl Qe

(- @it + Qati g ) (£) (1= ) -

()" ) o (C.17)

+ )\m<(1 — @e(n) D)
The other two FOCs for consumption and for abatement are of the same type as in the
previous version of the model. Inserting the expressions for consumption and abatement
into the FOC for R, one can get an explicit expression for R as a function of the co-states

and of the states only.
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